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N e e I A R R Rl REP e PPN L s IS = et B
2 [HA=R
HiE &l T 104.8 8.8 m° 113.6
e Al L/ &=} 65.5 142.7 m° 208.2
KEHEHI TR 29.2 m° 29.2
IKEEHI L/ &=} 246 m° 24.6
Ha 90.1 142.7 m° 232.8
FRIE ga 34.4 9.3 14.1 5.4 m° 63.2
#BE D FET 171.1 5.1 2.5 34 46 m° 186.7
EmEIE T 55.7 6.7 6.2 6.2 m? 74.8
BhgEE /=1 77.7 21.0 10.1 m?2 108.8
EEER T/ 18.7 m? 18.7
REER L& 9.8 534 | m? 63.2
oV —hEEL 8.8 3.2 m® 12.0
Uz Janb (1325 Pt —BEt SV EF=4388—(186.7x1.1)=| nm® 233.4




RRRET



ERAEITIHREHREQ)

‘ B ANEEI(ER ) ANEEICGE ) FEMAERI(E /) HmIERICGE )
pill m3 m3 m3 m3 =
(m) Wr m T 1y B = W & T 15 H = Wr & T 1y B = W 1 H =
No. O 0.0 0.0 3.9 0.8
No. O + 10.000 10.000 0.0 0.00 0.0 0.0 0.00 0.0 3.8 3.85 38.5 0.0 0.40 4.0
No. 0 + 18.720 8.720 0.0 0.00 0.0 0.0 0.00 0.0 3.8 3.80 33.1 0.0 0.00 0.0 [No0+10
No. O + 19.000 0.280 0.0 0.00 0.0 0.0 0.00 0.0 5.7 4.75 1.3 7.9 3.95 1.1 [Nol
No. 1 + 0.300 1.300 0.0 0.00 0.0 0.0 0.00 0.0 5.7 5.70 1.4 7.9 7.90 10.3 [Not
No. 1 + 0.840 0.540 0.0 0.00 0.0 0.0 0.00 0.0 2.2 3.95 2.1 0.0 3.95 2.1 [No1+10
No. 1 + 10.000 9.160 0.0 0.00 0.0 0.0 0.00 0.0 2.2 2.20 20.2 0.0 0.00 0.0
No. 1 + 18.740 8.740 0.0 0.00 0.0 0.0 0.00 0.0 2.2 2.20 19.2 0.0 0.00 0.0 [No1+10
No. 1 + 19.000 0.260 0.0 0.00 0.0 0.0 0.00 0.0 7.3 4.75 1.2 7.1 3.55 0.9 |No2
No. 2 + 0.300 1.300 0.0 0.00 0.0 0.0 0.00 0.0 7.3 7.30 9.5 7.1 7.10 9.2 |No2
No. 2 + 0.720 0.420 0.0 0.00 0.0 0.0 0.00 0.0 0.0 3.65 1.5 3.3 5.20 2.2 |INo2+10
No. 2 + 10.000 9.280 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 3.3 3.30 30.6
No. 2 + 19.000 9.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 3.3 3.30 29.7 |No2+10
& & 59.000 0.0 0.0 134.0 90.1




ERREITIHEHE=E(2)

‘ e KE(ER) K&CE ) HERL =RERE
bl J=1 m3 m3 m3 m2 f5&
(m) Wr M T 1 B = ¥r @ T 15 e Wr M@ T 1y B = Wr M 1 B =
No. O 0.6 0.0 1.1 0.0
No. 0 + 10.000 10.000 0.8 0.70 7.0 0.0 0.00 0.0 1.9 1.50 15.0 0.0 0.00 0.0
No. 0 + 18.720 8.720 0.8 0.80 7.0 0.0 0.00 0.0 1.9 1.90 16.6 0.0 0.00 0.0 |No0+10
No. 0 + 19.000 0.280 0.0 0.40 0.1 7.6 3.80 1.1 0.9 1.40 04 5.5 2.75 0.8 [Not1
No. 1 + 0.300 1.300 0.0 0.00 0.0 7.6 7.60 9.9 0.9 0.90 1.2 5.5 5.50 7.2 [Not
No. 1 + 0.840 0.540 0.7 0.35 0.2 0.0 3.80 2.1 1.7 1.30 0.7 0.0 2.75 1.5 |[No1+10
No. 1 + 10.000 9.160 0.7 0.70 6.4 0.0 0.00 0.0 1.7 1.70 15.6 0.0 0.00 0.0
No. 1 + 18.740 8.740 0.7 0.70 6.1 0.0 0.00 0.0 1.7 1.70 14.9 0.0 0.00 0.0 [No1+10
No. 1 + 19.000 0.260 1.4 1.05 0.3 7.0 3.50 0.9 0.7 1.20 0.3 5.5 2.75 0.7 |No2
No. 2 + 0.300 1.300 1.4 1.40 1.8 7.0 7.00 9.1 0.7 0.70 0.9 5.5 5.50 7.2 [No2
No. 2 + 0.720 0.420 0.0 0.70 0.3 0.0 3.50 1.5 5.7 3.20 1.3 3.2 4.35 1.8 |No2+10
No. 2 + 10.000 9.280 0.0 0.00 0.0 0.0 0.00 0.0 5.7 5.70 52.9 3.2 3.20 29.7
No. 2 + 19.000 9.000 0.0 0.00 0.0 0.0 0.00 0.0 5.7 5.70 51.3 3.2 3.20 28.8 [No2+10
& F 59.000 29.2 24.6 171.1 71.7




ERREITTIHEHE=(3)

5 EmEIE YL EEmBER(ER) P EEmERGE)
=1 m2 m2 m2 f5&
(m) W 1y = W m 1 % B W m 1y %= % B
No. O 1.5 0.7 1.7
No. O 10.000 10.000 1.5 1.50 15.0 0.8 0.75 1.5 0.0 0.85 8.5
No. O 18.720 8.720 1.5 1.50 13.1 0.8 0.80 1.0 0.0 0.00 0.0 No0+10
No. O 19.000 0.280 0.0 0.75 0.2 0.0 0.40 0.1 0.8 0.40 0.1 Nof
No. 0.300 1.300 0.0 0.00 0.0 0.0 0.00 0.0 0.8 0.80 1.0 Nof
No. 0.840 0.540 1.5 0.75 0.4 0.0 0.00 0.0 0.0 0.40 0.2 No1+10
No. 10.000 9.160 1.5 1.50 13.7 0.0 0.00 0.0 0.0 0.00 0.0
No. 18.740 8.740 1.5 1.50 13.1 0.0 0.00 0.0 0.0 0.00 0.0 No1+10
No. 19.000 0.260 0.0 0.75 0.2 2.5 1.25 0.3 0.0 0.00 0.0 No2
No. 2 0.300 1.300 0.0 0.00 0.0 2.5 2.50 3.3 0.0 0.00 0.0 No2
No. 2 0.720 0.420 0.0 0.00 0.0 0.0 1.25 0.5 0.0 0.00 0.0 No2+10
No. 2 10.000 9.280 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 2 19.000 9.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 No2+10
& 59.000 55.7 18.7 9.8 0.0




ERREITIHEHE=E®4)

~ [ | —
B A iR e e
w [ HE | =85 | BE | hE| * 8| Be | hE | 5] 58 | 5@ | F6] 5 &
No. 0 0.06
No. 0 + 10.000 10.000 0.05 0.06 0.6
No. 0 + 18.720 8.720 0.05 0.05 0.4 No0+10
No. 0 + 19.000 0.280 0.05 0.05 0.0 No1
No. 1 + 0.300 1.300 0.05 0.05 0.1 Nol
No. 1 + 0.840 0.540 0.36 0.21 0.1 No1+10
No. 1 + 10.000 9.160 0.36 0.36 3.3
No. 1 + 18.740 8.740 0.36 0.36 3.1 No1+10
No. 1 + 19.000 0.260 0.05 0.21 0.1 No2
No. 2 + 0.300 1.300 0.05 0.05 0.1 No2
No. 2 + 0.720 0.420 0.05 0.05 0.0 No2+10
No. 2 + 10.000 9.280 0.05 0.05 0.5
No. 2 + 19.000 9.000 0.05 0.05 05 No2+10
A i 59.000 8.8 0.0 0.0 0.0




EREL THERIHE

& 1R i o' A e
av9)—hERET
avo)—k 18-5-40 EFB [43.1+7.1 502 m°
B i 255.7 2557 m’
B #h#t FEEE t=10mm [6.2 62 m’
KiRENAT VP65 11.3 113 m
IRt B A #1 300 %300 x 10 [3.1 31 m’
WA E|EFH15~20cm|41.6 420 m’
REWLT
avy\—k 18-5-40 EFB [23+8.8 31.8 m’
i i 136.4 1364 m’
B #h#4 BEE t=10mm (3.1 31 m’
KiRENAT VP65 6.0 60 m
0% 4 B A 44 300X 300% 10 [1.6 16 m’
WA E|FEFH15~20cm|45.2 450 m’
18%T
avy\y—k 18-5-40 =B [8.3 83 m
B o 28.4 284 m’
215 HERE (235 23.5 Him’
258ET
avs\y—k 18-5-40 =B [8.2 82 m
B i 27.9 279 m’
215 HERE (233 23.3 Him’




avy)—rERT

SETEE Hm E F B £ NO.
300, 550 1000 550 300
ARV ALIES avhy—+
1000~3070& § B, 18-8-40
o g _
S Bk

B 4 B 1k #

300x300x10 W /

Kig &4 T 70 | 440 |

VP65 y

WA
EIER15~20cm
HAKEENAS TE2~INIC1EHRET S
1XHY
%W RE Hi g = B M E
ER
ERRETIMEIROKERLY m 416

(GEFER)
avyl)—k
18-5-40 5 4FB (0.3+0.44)/2%1.4%41.6%2 m3 43.1
T2
g 1.4%({ (17240.5"2)+y (172+0.472))%41.6%2 m2 255.7
B #th4t
BEEE t=10mm (0.3+0.44)/2%1.4%6%2 m2 6.2
Kig/4T
VP65 (0.3+0.44)/2%1.1%41.6%x2/3 m 11.3
% H B e #F
300 % 300X 10 1.1%y (172+0.572)%41.6%2/3%0.3%0.3 m2 3.1
(FRa>H—RER)
arol)—k
18-5-40 5 4FB (1.0+0.7)/2%0.3%41.6—1.0%41.6/10%(0.46+1.21)/2 m3 7.1
R
E|EH15~20cm 1.0%41.6 m2 416




BitEE B = i B Z NO.
2
%
%ﬁw
BRALT L=19.8n(#EEESL=22.2n)  ]00

19760

1000

550

300

300x300%10

K& A4 F
VP65

BEVWERR
1000~3070& 5 5.

o
&

o

avyl)—+F
18-8-40

-
<,
g

1100

1400

—

300

!440!

G-kl

HEE 15~ 200m

KABEALTHI~IIEFETE

1HY

%W RE Hi g = B B =2

ER
ERRETIMEIROKERLY m 22.2

avyl)—k
18-5-40 5 4FB (0.3+0.44) /2%1.4%22.2%2 m3 23.0
pidp
g 1.4%(/ (172+0.572)+{ (172+0.472))%22.2%2 m2 136.4
B 4t
BEEE t=10mm (0.3+0.44) /2%1.4%3%2 m2 3.1
Kig/4T
VP65 (0.3+0.44)/2%1.1%22.2%2/3 m 6.0
0%t 5 Ak 44
300 % 300X 10 1.1%y (172+0.572)%22.2%2/3%0.3%0.3 m2 1.6
(FRa>H—RER)
avy)—k
18-5-40 & 7B ((1.0+0.7)/2%0.3+(3.07+2.77)/2%0.3)/2%22.2~(1.0+3.07)/2%22.2/10%(0.46+1.21)/2 m3 8.8
R
F|FEH15~20cm (1.0+3.07)/2%22.2 m2 452




Aoy 7 V—FT s a7 ) — MEBRHE

avy—+

avy)—k
D : it DER
1ES Y O 54 TR A—%;Dz
V=nD’/6 | A=xD?*/4 | A’=[3/2D? 10/ A
5 A 10m? 24 V) K
X 3 2
2D (m) V. (m’/{#) A (m/{#) /1) B/ 102
0.15 0.0018 0.0177 0.0195 513
0. 20 0. 0042 0.0314 0. 0346 289
ay s ) — MEREE
. 10m* 24 V) 2=}
/% E i gl £
w st PERRSCH )/ 10n0)
%/?/}//j 0.15 (0. 0018 X513) X1/2 0.46 m*/10m?
%}///?/}//2 0.20 0. 0042 X 289 1.21 m*/10m?
10m2EBYELGHLES

(0.46 x2+1.21)--2=1.065m3




SHEE L = H HE £ NO.
6100 700
2000 ) 550 1000 550 ) 2000
‘ ‘ avgYy—F
18-8-40
3 o o
< & 2 &
HEH - v 180. 500
1000 4100 1000
1RHY
B - R &t =1 = B {1 #H=E
avol)—k
18-5-40 = FB (6.1+4.1)/2%2.75%0.7-(1.565+1.25)/2%0.7%(1.0+2.1)/2 m3 8.3
Ep e
ﬂ?ﬂﬁ% (6.1+4.1)/2%2.75%2+(1.565+1.25)/2%0. 7%y (172+0.44"2)%2+1.25%{ (172+0.36"2)%2 m2 32.9
—(1.0+2.1)/2%1.25%2-(1.565-1.25)%2.1 m2 -45
&Eit m2 28.4
25
BHERIS (6.1+4.1)/2%2.75%2-(1.0+2.1)/2%1.25%2—(1.565-1.25)%2.1 #hm2 23.5




SHEE L = H HE £ NO.
6100 700
2000 ) 550 1000 550 ) 2000
=
18-8-40
ok on B 171,500 |
1000 | 4100 | 1000
1RHY
B - R &t =1 = B {1 #H=E
avol)—k
18-5-40 = FB (6.1+4.1)/2%2.7%0.7-(1.44+1.2)/2%0.7%(1.0+2.1)/2 m3 8.2
Ep e
ﬂ?ﬂﬁﬁ (6.1+4.1)/2%2.7%2+(1.44+1.2)/2%0.7%y (172+0.46"2)%2+1.2%y (172+0.3772)%2 m2 32.1
—(1.0+2.1)/2%1.2%x2—(1.44-1.2)%2.1 m2 -4.2
&Eit m2 27.9
25
BHERIS (6.1+4.1)/2%2.7%2—(1.0+2.1)/2%1.2%2—(1.44-1.2)%2.1 #hm2 23.3




R4t 3% (200 x 200 X 1200 % 1500)

A /100

A

ZERERE A=3.8m2
ZREE L=60.2m

(Kgaw2U—FERE L=252m

V204 94

No. 4+5.0

ERR=
KEIEILZIL=
SAR=

R At=

No. 4+2, 348

60.2+27.5+18.8
0.1%0.2/2%(25.2+9.9+8.6)
31.8+12.9+8.3
53.0-(0.2%106.5)

FE~F1EEE 1100

ERA

ERER A=12 9n2
EHERE L=27.5m
Gkfpa oy —REE L=99m)

m |&

/E.B\
/BD|34B\ v196.0

F1EEE~F2FEHE /100

‘ 2000 1200‘ 2230 ‘

No. 3+8. 2
No., 3+8. 0

106.5 m
0.4 m3

53.0 m2

31.7 m2

EE{A

No. 4+0. 65

ZRER  A=8.3m2
ZREERE =18 8m
(Kgaw2U—rEE L=8 6m

[N

([ N

[ _‘L-_ i|_D_ T\BL v191.7
2540 | 2600 |




a9V )— W ft(t=10cm)

Mo 3-6.2

Mo.3-10 0

g3
SR

Mo 4-2. 345

ER~ZEI1EEE 11K
HER

/10

Ho4+5.0

EEA

Mo.3-15 48

S EES~Er SEE 1N

visE D

£g EZ L1 ok
1 4.350 1821 1847
z 4648 2171 10121
3 4649 2171 10121
4 4312 1172 1641
EEE o =830
wH o 11815

£g EZ L1 mEE o
1 1,879 [ 1.449
] 11,538 6 452 14443
3 9.681 1178 [N
EWE o 53069
mH of 46.535

8 EZ e EmE ol
1 (= 108 [ESE]D
2 Len 0l 5.4%
3 1 087 548
[ 038 [ 40,143
5 938 1w 1518
O 4510 7427 10573
1 & &0 1180 10808
[ (] 4810 0.4
[l 543 2401 15,501
10 & 85z 1189 10575
1 & s 118w 1055
12 & 9a0 1885 15.927
REW ol 225.237
WE 112519

| PR

FR~FE1EEZE 1IN
ZECEIEEZ VW

EFE

F195.0

W.3-12 17

lo.d-0.85
o 3-19 46

E2EEE W
EFERE

=
5|

We{+EFE 17.915+46.535+112.619+24.340+15.246

s Bu | &z wEE o
1 1o Ewl 4.504 48.679
[ 48.619
L 24.340

e [T w= EEE o
V Sem| 2o IR
2 sm 0.604 3.662
3 §.21m 0.694 3.662
0 Sem|  zus ezt
AR 30.4982
L 15246

216.7 m2




L ZERhEET BEFHER
2 BE—~Ti& HiyEEl RS = M= = 1 A
(kg/m) (m) (kg) (kg)
BIR 2000 x 1000 368.00 16| | 5888.0
20X1.0X16 32.0|m2
I H-400X400X 13X21 | 172.00 45| 774.00 5| A& | 3870.0|L#T
TEHAA [ -300X90X9X 13 38.10 1.95 74.30 4| K 297.2| L& T
AT4T7F— |PL-358x194% 16 8.72 8| M 69.8| E&3 T
B IRIEDHH|L-100X100X 10 14.90 8| 119.20 2| K 238.4| L& T
L-100 X 100X 10 14.90 4 59.60 2| K 119.2| EEp T
LEIEE 4594.6
Hrs%l+ H-400x 400X 13x21 | 172.00 8.5| 1462.00 2| &A| 29240
A H-400 X 400X 13x21 | 172.00 6.5 1118.00 6| &<| 6708.0
H-400X 400X 13x21 | 172.00 6.62| 1138.64 2| &| 22773
ponl L-100 X 100X 10 14.90 45 67.05 12| K 804.6
L-100 X 100X 10 14.90 5.5 81.95 8| & 655.6
TKEHE#1 [ -150X 75X 6.5X 10 18.60 85 158.10 2| K 316.2
[ -150X 75X 6.5X 10 18.60 45 83.70 4| K 334.8
AT47F— |PL-358x%x194% 16 8.72 20| ¥ 174.4
by FFL—bk |PL-400 % 400 X 16 20.1 8| ¥ 160.8
AT47F— |2 -580%200 X 22 20.03 16[ 2 3205
A =94 X 200 X 22 3.25 32| ¥ 104.0
JL—k PL-450 X 200 X 12 8.48 4| ¥ 33.9
PL-411 %200 X 12 7.74 12| #& 92.9
PL-380 X 200 X 12 7.16 8| 57.3
7oh—FL—k|PL-650 X 650 X 25 82.89 8| 663.1 1606.9
| TEISE 15627.3
EPS 20kg/m3 h=0.5m 8.0%X4.0%0.5 16.0|m3
= 1 67.2| m
BEE/IN\MT 9486 1.2 16| &
BEE/IN\MT 9486 40 12| K
BExX9527 32| &
il R 15 175] fitm2
Bi5 — R 97/ #m2




LZEfhET ERMEHEE

feln
o
i}
i

SHEE # NO.

f[E]

1000
1o m 1o
o0 0

18 - RIRBT BEHER

& B - & # s R W OE wm B

EPZDENS o ok=18N/mm2 = 1.50%1.00%1.00 %4 6.0 m3
2.61%1.15%1.00 3.0m3
3.00%1.00 % 1.00 3.0 m3
12.0 m3
B o8 Now (1.50+1.00) *2%4 20.0 m2
(2.61+1.15) *2 7.5 m2
(3.00+1.00) *2 8.0 m2
35.5 m2
HLavsy—r o ok=18N/mn2 1.70%1.20%0.20 %2 0.8 m3
3.20%1.20%0.20 0.8 m3
1.6 m3
PEDP DRSS TR IIEDP DRSS 13 (1.70+1.20%2) %0.2 0.8 m2
(3.20+1.20%2) *0.2 1.1 m2
1.9 m2

7on—HIL b D25 1160 (SD345) 3.98kg/m* 1. 16m* 324 147.7 kg A/ * B
Fu b 24 4%8 3208

L W-RE H = = B ff M=
avol)—k
0 ck=18N/mm2 = 12.00 m3 12.0
HLavy)—k
0 ck=18N/mm2 = 1.60 m3 1.6
avol)—k
BUE - & - 5 12+1.6 = 1360 m3 13.6




OfR=EMEN - BHFt LAE

REWEEHE
it 3. 0m*27A 81.0 m
(#) 1. 0m*27A 27.0 m
Hz 3. 0m*264 78.0 m
HEZ (EE)  2.0m*26K 52.0 m
TREE 3. 0m*15A 3B 135.0 m
ait 373.0 m
9507 8{E+25 & AT 200. 0 1&
B LVt 2 E
SR 45.0/0. 54 83.3 &
LEEIHE
BIW 4. 0m#*8. Om 32.0 m2
= () 1. 0m*162 16.0
=i (1) 4. 0m*12K 48.0
9507 32.0 {&
vt priEMmE

H #iZf (H-200)

(4. 8m*4A+3. 8m*x2A) %49. 9kg/m

1,337 kg

H #iZH (H-100)

(6. Om*2A<+4. 6m+10. Om) *16. 9kg/m

450 kg




K B I



TIHEHESE

‘ S FYIEEI(E R FUIEEIECE) FRIE(L R RIE(EE)
B = (m3) (m3) (m3) (m3) &%
(m) Wr m T 1y HE| B E 1y H 2 W | T 1 2 W & I 1y wn E
NO. 0 - 3.000 0.0 0.0 1.5
NO. 0 - 5.000 2.000 0.5 0.25 0.5 2.9 1.45 2.9 1.5 1.50 3.0
NO. 0 - 12.000 7.000 0.8 0.65 4.6 11.1 7.00 49.0 1.7 1.60 11.2
NO. 0 - 19.000 7.000 0.2 0.50 3.5 11.4 11.25 78.8 1.3 1.50 10.5
NO. 0 - 20.822 1.822 0.0 0.10 0.2 1.8 6.60 12.0 1.2 1.25 2.3
NO. 0 - 27.000 6.178 1.2 1.20 7.4
& & 24.000 8.8 142.7 344




TIREHES

‘ e BER a9 —rERL
Al =1 (m3) (m3) =
(m) Wr m T 1y 2 W m E B B = Wr m Iy M= Wr m I B =
NO. 0 -  3.000 0.1 0.16
NO. 0 - 5000 2.000 0.1 0.10 0.2 0.16 0.16 0.3
NO. 0 - 12.000 7.000 0.2 0.15 1.1 0.06 0.11 0.8
NO. 0 - 19.000 7.000 0.1 0.15 1.1 0.22 0.14 1.0
NO. 0 —  20.822 1.822 0.1 0.10 0.2 0.00 0.11 0.2
NO. 0 -  27.000 6.178 0.7 0.40 2.5 0.30 0.15 0.9
& & 24.000 5.1 3.20




HEK TEEH &

% W B 2 OE R H E
L& K B& EE 18.7m
avy)—k 0 ck=18N/mm2|4.480/10.0 X 18.7 840 m°
B OB BAEEY  |24.00/100% 18.7 4490 m’
ByLavo)—k t=50 0.56/10.0x 18.7 105 mt
EEEIE a 11.25/10.0%x 18.7 2100 m?
735 D13 157.5/10.0 X 18.7 29450 kg
UZYIK B ER 6.7m
a91)—bk 0 ck=18N/mm2|7.200/10.0 X 6.7 480 m°
B R SBaiEEY [48.00/10.0x6.7 3220 m®
ByLavo)—k t=50 0.75/10.0 X 6.7 050 m°
EmEIE b= 15.00/10.0 X 6.7 1010  m?
737 D13 252/10.0 X 6.7 168.80 kg
T v XMAE ER 25.7m
PU150 16.7/10.0 X 25.7 4290 @&
BEILAIL 100 =
A (t=150) t=150 RC-40 [2.6/10.0x 25.7 6.70 m?
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